Questions for seminars in week 44 (29.10-02.11)

Question 1

Read the following article: Glaeser, Johnson and Shleifer (2001) “Coase versus the coasians”, Quarterly Journal of Economics, Vol.116, No.3, pp.853-899. You may skip section B, page 861-862 (“An extention”). 
1. Sum up the main points of the theoretical part of the paper, and the main results of the empirical part of the paper. 

2. Discuss the model of judicial versus regulatory enforcement of contracts. For example: How well does the model capture the important tradeoffs? Are the modelling costs and gains reasonable, and do they capture the important factors? 
3. What role does legal error play in the model?

Question 2

Problem: Optimal liability rules

The probability of an accident often depends on the level of care from both the potential injurer and the injured. An example may be the probability of accident using a machine, where both the safety of the machinery and the care of the operator matters. Who should be held liable for damage? We discuss three liability rules:

a. Strict liability (SL): The injurer pays the damage

b. Negligence rule (NR): The injurer pays the damage if and only if he did not take sufficient care. The rule specifies what “sufficient care” is. 

c. The injurer and the injured share the costs.

Model: Let 
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be the probability of an accident, where x is the level of care by the injurer and y is the level of care by the injured. If there is an accident, the injurer incurs damage costs D. The cost of care is x for injurer and y for injured, i.e. marginal cost equals one. The social goal is to minimize the cost of care plus the expected damage from an accident.
(i) Derive the conditions for the socially optimal levels of care for injurer and injured.

(ii) Derive the levels of care for injurer and injured under the three liability rules above (SL, NR and sharing of damage costs). Assume that “sufficient care” is set equal to the level of care for the injurer in the socially optimal solution.

(iii) Show that a negligence rule can induce the injurer to choose optimal care even if he has to pay an amount lower than the actual damage.

(iv) Try to compare strict liability to sharing of damage payment.
(v) Assume now that the court may make mistakes regarding whether or not the injurer caused an accident. In a fraction z of the cases, the court finds that the damage was not caused by the injurer when in fact it was. How does z affect the levels of care by the injurer and the injured?
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